
(( ru2[uumubpJr

I l.rhtur rnur I rrrnrf !d

hurhrurnlrrnnr nrrutr

r:*lii#9 n\ tl

f"s;
PY
sdl
,'S*\

W{
UhUUTJUqUL qLNF

{5-7
/#,
rffi
t$,i{ {i
\tll:u'S

\ii\tiq,\t
4\

4
upunf 2018p."30" dr

4bpru4ruu qurnr{!pruunr'(( ru2}uruurrutrplr Lr ungfrulu\rutr hupgbpfr bu'Futn}Ufurfr"$4qgf#UqU3nFra3
qnUq-Lbnh q[nheLbnh <UUUF, ChnUqh UUI'2/ "'km:f,tr LC <ULAL4LI.U

(Cu m p1 nrgbmwlf b 6urfu u bpfr qbprumbulu[rub 4ruuqrupqdur!)
upuqhnn'
tlb{wtnrilg
Fudftu funrilp 4ruu 8nrrqhn
(C u m p1 nrgbur u1 lr! 6u [u u bp I qn p6runtr ru l.1 rutr 4ru u 11 urpqrlutr)

$!dub unurp!u;fr

9Ldutu
dLn

Qu.rr|lfurfu

rlf ru{np1
UJrru{npfr

chtrI
Pr, rLuIp

Qnrf urpp

/huqup ryprud/

u r'tuugnq
6ud\uqfpp'

pum 9UU
nrrrrrrulrrrrnorftrr

Utrr[ruLnLdp

1 2 3 4 5 6 7

;1-.1,,- 
' '. 'Ulqputrptrbfil,;t,l," r,i, . r ,ri''

t, 4bnnnuSe:
33691200 UbLnqhntrbn A l.L B T( nbnLuhuLn B 400 35.20

33691200
qurur tnn, u[umnn ,nnugnulo, urlulrt munuuun, urqmnququro n/ qbturhuru 6 400 2.40

33621270 UbLpnfi lnL6nqp dhLpirl flqnLlLulbpupp{nLd q< nbnruhu;m 9 700 6.30
33661 000 Lt ururLltufu ntn[ hLuLn Lt1 o-/ 4brluhuru 2 900 7.80
33661000 S plr rlbLnuqfl 4[L (urp I rlbLnuqf ryhL h r]h hh+n npLn nhq) o/

4UnUJnUrUl 32 )60 30.72

33622000
n bp [U 4n q p [ 1 ( q hp irL 4n u] p h h m bp Ln-p n Lm | 1uilfrL ),
hLnurrrrrrlhn- urrlnnhurhh frrrrinnhrrrhhh nhohrrrrrn\

c< +bqurhuLn 118 900 106.20

33691 21 9

U uqu uqn n ru ul u rq ut n m u m ( U uqu Uqjl n LU u u q Lu p u u tn fr

Ln b m p u h lr 4p tu Ln ), ! u fi n Ld u u q u n m u.r m ( 11 ur fr n LrJ

rrrrlrrurnrnrlrnh hhrfhhhnnrrrrn\

q<
4Uqurnu-rm + 00 2,20

33691 220 Ud 1n 4h ut hL ( u d 1n rlh q h L h p bq | 1 
Lu Ln ), { Lr 

1 
u ur p r.n Lutr q< nunurnLum 160 080 t72.80

33691 220 L[q[!nqp[fi 4frhfr4purm q< nunurnLUul 14 720 10.08

33691 21 2 IhnudhL, hbuqbnhnhtl g< nbnuhurrn 9B I000 294.00
33631 400 Prnnurd$bLhLrnr, dbnhrnLnurqhr d/ 14up!nLd 480 34 16.32

33631 400 9binL fubd, pubpngnpd g< qup!nL6 240 6 1.48

33631 400
9[nLQnqLrdfrL (qgnL!nquilfrtr]r h[4pnp1npfr4), pnb4pnILnlrtr

(pnL4pnILn[Llr unLgLuLn)
g< 4bququLnf6 132 200 158.40

33631400 9u1q hn LU( ttuilq h nLrI !up pnl urun), fu n r btl uLrq hgbn n o-/ nbnurhuun 40 600 24.00
33651 1 2B LImpngnrpuLmn[L (Lf mpngnLpurtrunn[tr[r UnLnhhr]nurLn) g< nbnuJhurLn A 100 0.70
3369 9 .rthnuqbuurd, qhLurnhqhtr c< 4[quhuLn 30 000 90.00
3369 9 € 1n p n q I p u rI fr L (p 1n p n q h p ur d hL I h fr ap np I n p fr a) o/ nbnruhuru 57 +40 25.08
3369 I UnLl$nltuLI$nntuBBnL, ulnnUurhLh hhrjp g< un{urtj 56 200 1t .20
3369 9 (nppfi urpluL uqirmu!nLcuLqbni uSurtrqtwt q< unqurq 350 300 105.00
3369 9 Uqphu.rulhq 6ntlfr gnLp J< 22|1U ? 10q 6 13.17
3369 9 l6nLfu ultLnhdurqdur6 g<

ryn 6 650 15.90
3369 9 Fnpuppnr T\ tqupInL6 220 40 B, BO

33691 1 9 nbpumpnq c< un{urL.l 35 60 2,10

336911 91
PbLnud bpuqnL (pburrurJbpuqnL [ 4[qpn qf nLu:ur),

btnmnhf ulonr. crbLr-nurlhohL lo bLrnrrrrlhohLh rrnr r$,u rr n\
d/ qupLlnL6 1,650 10 16.50

33691 1 9 UgbmLuqnludir4 q/h 70 50 10.50
33691 1 9 l-Lu!mnLlnq d/

zzltLl 2,470 3 7.41

336911 9
ur{r rrusl|r rL I r!+ulor rLJtu, uLl

221'lt tlB 50 5.90
33691 1 9 uruqUupndhgbu pnqup4[ rhnghruqdud nqhqLbn q< Ntu 306 60 18.:16

33691 1 9 G[uLd[L (phuLIhUh ptnnhn) q< unqurq 20 t00 4.00
33631 31 0 hpnqpngbtr g< r/h B 230 17.84
33631 31 0 <bqupfrtr LuurpInLd g< qurp!nL6 778 24 18.67
33631 31 0 L{hlqnqbunhlr

4/h 53 900 47.43
33631 31 0 9 ufi nLd[ rqbpdLutrqur! urm a/

22nq 119 6 0,71
1591100 PufnLpir uLrlirpm ??nu 150 3 0.45
1591100 FuqhnLpfr lnLq 221u, 140 3 0.42

33621 370 hqnunppfr4lr 4lrLirmpuur r/h 43 ;00 25.80
33621 370 mnlqbp[qnL (unlqhp[qn![ h[4pnp1npir4) ryn 60 150 189.00
33621 370 Lfrlnmfrtruppnr I

q< unqurq 100 200 20.00



33621 370
i uLnqurlu nLn qhqu mn L[ hurLnL!, qu mpfrLg 4bqutnn Lfr hrulrn L!,

uLuLnLhr rrrnrrrhnrrrhLh hrrrLnrlr
Y( ryn 90 480 43.20

33621 370 ApudLI qbpopufr4 ?2lll 149 101 15.05
33691 220 hLnq[tr un U urU 62 120 7.tlA
33651 1 35 'Prnntud$bLh[lnr a/ r-r.lunUnL6 238 6 1.43

33661 1 25
U bulruL) nqn t (d hurrud [qn 1 Uu unp I n Ld), qImn ghLnL

(uhmn$hlnLh hhnnnornnhn). $hburhrlhnhlrhnr rlh nnnrlhn
q<

ryn 142 240 34.08

33631 200 uluqbfiL pd2!Lntlutr qulpLlnL6 150 24 3.60

33631200 {[urrur-l[U C, t{f mudftr E, pburLu lupnLn[L, lnLLnblrL,
obu-rouu.rLahb. urnhl-rd lrrrnLEh rrnr rll,rrrn\ ohLl r lnhf rl rh nnr rhn \

g< ry'h 60 360 21.60

33631 200
l-dlr ur rl[L ( pfr ur r]frl fr h h r]p np 1n p h r]X {[ Ln ur rl$r B1 ), q I p ir 4oB u lrtr

(uhnhnoouhLh hhnnnornnhnl( tlhrnurrlhL 86l
T( Nn 20 1000 40.00

33631 200 SunLplrtr f< unq 376 t5 5.64
33631 200 Snppurlfrgirlr q< unL1" 2 IJ 0.03

33631200
IrbLnurrl bpuqnlr (pbunudbpuqnL[ 4f qpn qf nL uLn),

rntnnhtltttonr- ohbrnrrrrlhnhtr lohLrnrrrrlhohlrh rrnrr$,rrrr n\
T< qup!nL6 1200 10 12.00

33 6621 00 3 [ q p n$1op u Lug lrtt (q f' q p n g gop u urq hti h h h r]n nB r n n h n) q< unq 450 5B zo.tu
33 6 621 00 Ug bm[ 1u LI[! nlrf Lnp n qpn qopu hpblq b! Nh 40 200 8.00
336621 00 LImpn$nLpuri g< qup!nL6 285 q') 14.82
33 6621 00 luILnpn$nLpurl q< Lhtrp 70 30 2.10
336621 00 $nLpu-rqnfr4nL r/h 570 2.t\5

336621 00
sfrqnnStoBuugfrlr (gIqpnglopuurgfrttfr hh4pnBlnph']),

nbnu urrlbauro nlr
a< unq 6BB 1a 8.26

336621 00
U1$Lr-Lnn!n$bpn1 urgbu'rurm ($muffr! E), nbmfrtrnl qulLlfrLnuur

(rJhururjhL A)
q< ilq 11 50 15.75

336621 00 hurudqhtuLm q< \tr 45 50 22.5
336621 00 l-nq Lrn murL ( tnq r-un mu-rL U ut h n Ld), hh nn nB rn n n oh Luq hn q<

ryn 70 200 14.00
336621 00 flbp dn q u fr u ir fu n ur, L u m p fr n LLI h h h nn n U u n n nU u ur o/ ilh 33 500 16.50

336621 00
u uqu uqn n ru rr n rr 4n n ur u r{ ur n m ur m ( u uqu bqn n rd rt

h[4pnuLuqupLuqlrLuin tnbLnpu-rhlr4purur), qIplr4opufrtr
lrrrhnhnonuhtrh hhnnnnrnnhn\

g< q/h 45 480 21.60

336621 00 Lu$uqnfitr f< un{urtl 190 66 12.54

336621 00 2fr1furtlLh lnLrt q< undurt.t 192 6 1 .15

3 3 6621 00 rlbnubtr nup 42 000 42.00
336621 00 sbinIpIq[L (gbmhpl''qh!h 4[h[4pnplnpira) q<

ryn /.f, 90 6.57
33631 000 ftbhhenntr aq nuru'l 235 75 41.13

33631 000 ULnpnguLur[L-G q< undLutr 35 10 0.35
33631 000 Up1 n LU Lr ur p u dru 1n L6f 1 h n p pfr u p1 n LL fr g u q fr ur ur ! n rq Luq bp8 qup!nL6 1480 A B.BB

33631 000
.}hULn$htrru! 

(ryhUrngbLuU LuunhnLrJ) ryn 40 t0 0.40
33631 000 L[nnnuur, Uurnnhnnuur d/

ryn 23 400 9.20
33631000 ([rlpopu[q[L (hIapopu[q]Lfr hfr4pnplnp[4) o/ r/h 54 200 10.80
3363 000 "I[ 

n u tlb! m I Ln ( u dbll un fr Ln fr a1.r o q Ln ru h+n h U ) vq 149 20 2.98
3363 000 Fnpu.ippnL q< hum BO 20 1.60

3363 000 ItBbruth o2u.rnurU g<
221tt 920 25 23.00

3363 000 Lh n$h lug rlud qb! quiL h ! uplurBpLl ulirli rJurU n htrhn q< nbnurhum 49 790 38.71

3363 000 uftpurlIumItr g< hu.rr.n 1 500 7 10.li0
336 000 luLnL{fu nm[ q[2bpurlf L rpudb nup 7 200 8.40
3363 000 0fbqpuqnl g< 4b4uqumir6 11.2 690 1 8.93
3363 000 $udnm[4[tr q<

rybquhurm 12.1 600 7,2,6

JJb I 50 AurLlpbuunf U (ruriirluq, qpnLnburq, [rquq) a\ rlbquhurLn 34 400 13.60
3361 50 UhLnn !1n L4p urrlir 4ir hir4pnBlnph nh dntrn h h nn u ur g< qunurnuul 40 450 18.00
3361 2400 Ub Ln n ! 1n q p u df 4fr h [ 4p np 1n p fr 4fr rInL n h fr 4p u ur q< un{utl 49 120 5.BB
3361 2400 rlp 

n LnuL[bpfrlr[r h[ 4pnp1n p Iq q< un{urtl 52 280 14.{i6
3361 2400 +pnLnu{hp[Lfr h[4pnp1np[4 q<

4brlujhurLn 7 230 8.61
33611200 LnqbpudIr1 (lnqbpurdhqh hfr4pnplnpfr4) c< 4hrlurquu[6 7 330 2.31

3361 1 200 ftuLfrurfr4ftrlr h[4pnp1npfr4 nbnLuhulul 13 50 0.65
33613000 Flruutln4[1 nbnurhtuul 7 240 1.68
33613000 9uLn{ufunu[ nqbpnLpd 22nLl 172 37 6.36
33621 51 0 vur14mnqnnl t/

4bqurhLuur 10 100 31.00
33621 520 hL u LLr qp [ 1 (bL urlur qp [ 6 rlulbum), hfr 4p npln pn p[ urq fr4 q< nunLunurm 19 100 39.90
33622800 aluu.lLuL{bpf tr (ququqbphLh hhr}nnBrnnhn) g< un{utl 30 00 3.00
33621 620 $nLpnubdlrq q< un{urtl 28 30 0.84
33621 620 $nrpnubdlrrg g< 4brluhuur 3 800 2.40
33621 620 tiupt{b4ir1n1 q< 4bquhurur 30 720 21.60
33621710 ULnbLnlnl Y( 4bquihurm 5 00 1.50
33621 71 0 FI un qpnln 1 ( pfr un qpn1nl lr gnLdurp uur) 4riqurnLUm l0 900 9.00
33621 71 0 Ud1n4[q[L (u.rdlnafru]htrh pbqhrurm) q<

4Urlujn[um 12.3 900 11.07

33621710 !h$bahqhb a/ qbrluhurur 14 00 1.40
33661 230 Ug burfr 1uu frg [ 1uppn L, duqLbqf nLrlfr h lrr]poBu h4 q< qbrlu.rhLuur ?000 30.00



33671 30 rlft$bL hI ap udlrl (afigbl h[rapurJhtr h h h4nnpLnn hr]) fq unUurt.l 23 50
33671 30 +[!1nSb!ut! ttumplrnLd ryurluinLuul iB 8040 54.72

33671 30 rllt 
! 1n$bttLutl tr uLnp lrn LrJ t/ un{LuLl 82 100 8.20

JJO/ I 30 +f Q1n$btrLu! !uurpInLd 14up!n16 346 25 8.65
33631 630 EpurunL g<

22011 1 055 A 4.22
33631 600 3nrI q< nulut l6B 47 7.90
33621 240 SfruLnLlnpuluLI[tr q< unLlutl 17 50 7.65
33621240 bn[1uph unLl$uur, Luu!nppirLurppnL g< rluqunuJul 33 400 13.20

33621240 $nlurppnL f\ 4UlurnLULn 6 44 0.86
33621240 hL4ndbuugfrtr qurnlln16 270 10 2.70

33651 1 00
urlopufrgfr1|tU (urUopungnfilrfr mpIh[4puLn), p1u{nLlurLuppnL

(lrrrrrhnrrlh nrrrrrinrrrrrIrrrrn)
a( 4brluhuLn 146 700 102.20

33651 1 00 Utlopult gft[tL (w Llopu hghhtrh LnpI hIrlp urur) q< 4brlLuqum[6 25 300 7.50
33651 1 00 UdopuhqhthL (rurJoBuhqhrhtrh mnhhhnnurLn) q< 4brluquurf6 40 90 7,60
3365 57 3b$utpIupunL (gbgLnphurpunL LumpInLd) g< unqurtl 160 650 104,00

33651 1 00 Uqhppndhghtr o-/ qqrlunuJul 278 qq 15,29

33651100 UnLl$u.rdbpopuurqnl, unpfrdbpnqpfrrJ q< nbnurhLuLn 17 140 2.38
33651 1 00 3 [qp n$1opu u.rg frtr (9 [ qp nglopu ug lrti I h f 4p npln p[4) qb4urhurLn 35 370 12.95

33651 220 $1nL!nLuqnl a\ 4bququLn[6 114 10 1.14

33651220 1[purgbLnud unL.lurlr 40 700 28.00
33661 121 'TlupugbLnurrJnl f\ 4bquhuLn 4.3 1950 16.99
33661 121 ubmLudhqnt (dbLnudhqnr LuurnhnLrJ) undulh 35 00 3.50
33661200 Ug but[ 1u u fi g I luipp nr, u1urn urg bLn Ll rln 1, ! ngbfrtr q< 4bquhuun IJ 0000 78.00
33661 200 ULulpnLmuLInth unLt$u.rtn +< 4bqurhurm t3 576 7.49
33671114 udhLn$hrhl (hnL$hrhL) u nu uJ r.l 40 20 0.80
33671 1 1 4 UrI[Lng[[rlr rlbnuhuul 3 600 LB0
33671114 Fpndhbpufr! (ppndhbpulrbI hfqpnplnpIq) t/ nbnuhuur 2.9 060 3.07
33691 1 36 lrumnhnrdh Brnnhn g< unquL{ 48 30 1.44

33691 1 36 LurnpfrnLdfr plnplrq g< qtuuurhtlb *rupbr 366 30 10.98

33691 1 36 LLuurnhnLilh Brnnhn q< qluum[!b frupbl 180 70 t2.60
33141110 Lt[pu!uq g< hum 99 530 52.47

331 41 11 0 Pd2!ut!uti purdpull t/ huLn 187 120 22.44

331 41 31 0 tubpup!lr1!bp q< nulm 1R 40 3.50
331 41 31 0 Lbpuplq[1trbp g< hu-rrn l5 400 6.00
331 41 31 0 Lbpr.np!f 1Ubp

g< num 10 260 2.60
33141111 Uqb4LuLlrLbp q< nuJu'l 280 94 26,32

33141000 rlbqbplr trbpup!rIurL hurluIu.rpqbp T\ nuJm 42 140 5. BB

33141000 !uphLnbptrbp huur BO 10 0.80
331 41 000 Ufutnnpn2[i trlnLpbp /uLnp[rqtrbp/ g< unn L{'r 7200 7.20
33141420 Fd2!uQur! dbnLng NtllLN at c 900 22.05
33141420 SlnLng[Ln1n!fr urqbmnLhq fq qup!n16 220 30 6.60
33631 61 0 rln{[4nL 1n4 q<

22nq 2000 q 18.00

33631 6i 0
hfrqnnqnnm|tqnu (h[4pn!npm[qnUI ugbLnum),

oouhmbtnnurohUrhL (onuhrnhrnnuohLrhtrh hhn nnnrnnhnl
a/ qupllnL6 215 20 4.30

3314 29 pd2!ru!uL 4frdutl c< hurm 50 120 6.00
33141111 QqlnLL uqbluLlr f\ n ulul 6 300 1.80
331411 rDbprlbppfrtr Y( 22nu 1600 46 73.60
331 41 1 u33 f\ nuul BO 160 1 2.80
331 41 1 2uruq oqLnLplnLtt NL!LN 1 250 IJ 16.25
331 41 LrgnLdfrLInLdlr $nu$Luur Lhu-rpbp lB0 100 18.00
331 41 1 LuqhtlhL unL{.urq 960 12.48

331 41 1 !6nL uluiL n Lfulr I nLr1, pLurlrnLp, UrrrLnr.l url-u nu h undurLn! bn o/ unqurU 220 7 1.54

33651 70 urshqrn{hn q< nbnuhutul 600 4 2.40
33651 1 70 gb$tulbpufrL (ghgulhpuhLh tlnLnhirqpurLn) q< 4hququufr6 150 294 44.10
331 4 B u.rLdbnnqhll uLnbnht g<

n ulLn 14 ,.20 3.08
33141118 u4uLrJurL41u.r !uLUul g< un{url.l 130 29 3.77
331 4 1B 4[uqnfiL qpudb g<

N UJLN 120 5.40
33641 41 3 4bpuurrJbuuqntr q< unqurtl IIJ 371 42.67

331 31 000
dbmnnlrFrlurqn(dhLnpnUf ryuqnfi pblqnuLn), plnphbpu[4[Llr
nhottnLbnbuLn (ornnhbouhnhLh nho rrnrLntrurrnh ?0% rnrEnrra\

qupllnL6 800 4 3.20

3361 1 350 Uu!nppfrLuppnr unquq 4B 300 14.40
3361 1 350 urdppopunl (urJppopunfr h[4pnp1nplr4) t/

4brlLuhu.rm 50 60 8.00
33661 1 42 Udh Ln p h q u h hL ( uL rlfr m p ir q urir lfir ir h fr ap np l n p fr a) g<

4brluhurLn l0 480 r4.B0
33691 31 0 PbUqhtpbLqnutn q< 221\ 460 1 0.92
33691 31 0 Crhshtr g<

4bnurhurm 20 t00 8.00
33691310 CthLtLurqlr] 4br1urhurm 128 )00 115,20

33641 41 3 tbpuurJbBuqnL unqurq 670 11 14.07
33621 380 +[qnpu[L 3 q< rybqu-rhLuur 5 20 3.60



33621 380 n[$btrhIapLuJItr 4hqunuLn I 410 3.69
33621 380 $nu$nhqh4Lbn (bubLqhurr)-E$l- 4brguqum[6 tzu 300 36.00
33621 380 UbLnnqpnlnl (dburnqpnlnfr unupurrpu.rm) 4uryurnurLn t9 200 3.80

33621300
rulgu-ppnLlf qn{ulbplrrutrurppr{f bphL hupbn, gblnpupplrurr,ul

rrrLrrrLnrhrh rnrn
c< 2211tl 120 BO 9.60

33621300 !1nLnpILluqnl g< qup!nd 190 6 1.14

33661 1 28 9urnpuduqbuhtl f( rybquhurur 11 I000 BB.OO

33661 1 2B (hquplttt (hbqupftL truLnplrnLrJ) q< ulun[]nL6 633 30 18.99

33693060 UuqLbqhnLrJ unu$um unqurl.l 32 60 1.92

33693060 Ubm$npdfrLfr h[4pnp1np[4 r;bquhuLn 30 300 9.00
33632000 LftLIbunqh4 '+(. rhuiBbB B6 cl 4.39

33632000 Lhmpnqhsbphtr nuul 1400 I 1.40

33691144 LuLnpfrnLrI[ pfrnunL$uur unqut.l 45 20 0.90
33621 620 UqhnnLntLuUmnlr q< qbquhurnr 45 690 76.05

33621620
LftLnudfrL 81,L{[Lnudfrl 82, rlf Lnud[L 86, qbpuqulrpbLn1,

trhlrnrnhlrrrrlhn
q< unt{urq 120 ]00 36,00

33621 620 SbLnnuqhttrhtr T< quptinL6 724 tc 10.80

33621 620 Ghdntnt (phL.lntnth durtbum) unqutl 382 24 9.17

33640000 $1nr!nLLuqnl q<
4hquL4LuLn[6 140 60 8.40

331 4 310 LbnunUhl 3 q< huul 810 9.72

331 4 310 9gnLQndburpI uurpIqLbp q< h urur 7002 I 7.00
331 4 310 LhrlnQulhtr (1|lqnqutlhtrh hh4pnplnphq) q< urdq. 26 20 8.32

331 4 310 Cquubl tnnL{r 1 000 t1 11.00

331 4 310 Qbp dulurJr /uL a[ !Lu1 ftrl nurul 400 36 14.40
JJI 14 Gubqf$ hurn 120 4 0.48

336611 36 n[uqbqutl T\ 4bquhum B ,024 24,19

33661 1 36 qthqbnhLh tlhUnnhnqLur c< 22t'tl) 150 50 7.50
336911 29 fth!qbn q< qrupup 345 20 6.90
33691 1 29 LIUL!u!uL qhn2fr q< num 340 20 6.80
336611 29 ululqpnuppnL (LumpInLd {urlqpnuLn) 4brluhurLn 120 2200 264.00
33661 1 31 SbLnpuppf r.nul Y( 4bquhuLn t3 8120 40.56
33691225 $nLpuqfi4frtr a\ 4bnuhuLn 600 15.00

33691 225 [u!Lnnqnq 22b\ 2000 ) 4.00
33691 225 bnULrBh (lll) hhnnopuhnh h urnrhrjurrurnqh hurJurhn 220tl 2300 2 4.60
3361 1 350 wuUnnphLLuBpnL ascorbic acid (u-rp 500 15.Ii0

33673400
uwillr rru rwur r[ [uuiuf, nLu ruunlJt unL[+uul, sdtuurdrnot [Satoulamol

f\ $Lurtt 1450 8.70

33661 520 4huqbqurd diazepam d/ ULIur 100 100 10.00

3369651 3 9figbpn1 dndhlt 100 50 5.00
3369651 6 hpqnquph$bpn1 /rr[mudfrtr D3/ T( ?2nu 798 5 3.99
3369651 7 U4phtru-rfiL un{urL,l 170 30 J. IU

3369651 B 3b$uqnfitr q< un{urtl 180 50 9.00
3369651 I dhmudhl 86 unquq 20 30 0.60
33696520 !dqhshnhL q< unLlurtt 195 30 s. 85
33696521 3b$nqopuIrJ (gbgnLpopufrr.l trr.uLnpfrnLrl) q< unqurq 900 10 9.00
33696522 Fir$[4ndupu d/ 4bququLn116 52 180 9.36
33696523 flpndbpuq[L (LapndbpurqhLh hhrrnnBrnnhn) unUuitl 214 BO 17.12

33696524 bnlluBh (lll) hhnnoBuhnh l.L r.unrhdurLnnqh huUurhn q< 4bqurhum 110 60 6.60
33696525 9lnluqbqud q<

4bquhu.rur 20 4.20
33696526 9bpu{.1purlirU UuLnbLnbn 1 2FR o/ nurLn 128 50 6.40
33696527 !bpru!pur1[! !urmbmbp 16FR g< huur 130 50 6.50
33696528 3[qpnglopuruofir T\ unquL{ 240 25 6.00
33696529 9upbLnbptrhp c< nurul 120 BO 9.60

33696530
qturnlg |tL (qitunLglrufr h[ 4p n ppn d[ 4), b$b+n hL (h$b4n ht] h

hhnnnnrnnhn)
q<

22Ftt 700 5 3.50

33611 200
rpun+nun c-unquu.rmpnnru unun:pnu:purLn+(nrrr4rrurr-5-

bnl ump lr n Ld bngn u$u-rur, n Lp ir alrtr lr-S-bp !bump irn Ld

hnL$nu$rutrn- nr nhn hLh-S-hnl tltrrrr nnhnr rl rlnlrn$,nr r9.r r rr n\
unL{urq 1000 60 60.00

et4urdbtrp 4386.14
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33691 200 UblnqhnLbn A h B d/ rlun ur n ur Ln l1 27860 306.46

33691200 q<
ryuqurnruLn 6 1 800 10.80

33621270 ubLpnfi lnL6nqp dbLplrl fiqnL{ulbpuLppLlnLrI nbnuhr-uur 9 11590 104.31

33621270 Ubbpn$ lnL6nqp dblrplrl [qn{ulhpurpp{nLrJ q< lur Luujuur
17 4600 78.20

33661 000 9uLndufunLrh hLuLnLh g< nunurnurm 2 70050 140.10

33661000 SnhdbLnuqhnh! (LnnhdbuuqhnhLh nhhhnnnprnnhn) q< nbnu-rhu.rm 22 3960 87.12

33622000
A bp hL4n qp h 1 (qbp hL'1n qp hh unbp m-pnLmI ludfrL ),

hLqtuquLdhq, ud1n4[q[L (ud1n4[q[LI pbq[1um)
c< rlulurnurLn tlB 210 24.78

33691 21 9

ULuq! bq[ n Ld u u u] u n m ur m ( dLuqL bqfi n Ld ur u q ur p Ln ur m I
Ln bLn p u h I qp ur Ln ), ! u ft n Ld u u ul ru n ur r.u ur ( 11 u fi n Ld Lu u q u.r p ur r.u m fr

hbLIhhhrynuLn)

q< rtrbrlu.rhum 4 3850 r 6.94

33691 220 hUnqhU g< rlbqurhum 5 6700 35.51

3369 220 Ud Ln rlh q htr ( ur d 1n ah q hL f' pbqfi 1u m ), L{ur 1u r.u p un urlr nbnuhuur 160 96 15.36

3369 220 rlbLmLuhnhBnhLnirlir mbtnpLutrlrLnpuLn q<
4UqLunurul 23 1 800 40.86

3369 220 L[q[Lnqpft[t 11[h[qpuut q<
ryury.!nurLn IJ 3984 s9.76

3369 220 SpopubpnLmIIr q< 26 1150 29.90

33691220 SpopubpnLmlrL qup!nd 282 46 12.97

33691212 rI[nudirL, hbuqbphaf'L q< 4urlunuu 9B 900 BB,2O

33691 21 2 Lbpf {n1n1 (!bpfltln 1"nfi hfr+pnplnphr]) q< 4urlunuLn 178 280 49.84

33631400 Prnnud$bLhUnr, dbphrnLnu-rqhr q< qLlpt4nL6 480 i69 81.12

33631400 rblnL fubd, Bubpn$npd o_/ utunUnL6 246 3.20

33631400
9gnL!nqiudlrh (qgnL!nqudfrLI h[4pnp1np[4), pnlqpnfrLnfrtr

f nnhnnnhrnhlrh rrnrr$'rrrrn\
q< qbrLuulurmfl

6
132 360 47.52

33631400 -rurqhnLd(ULrrqhnLd Uunpnlurm), fu nrbllurqh$bnnr g< 4brlulhurm 40 1200 48.00

33651 1 2B
.L 

I un pn$n rp uL Lnn hL (L h m nn$nLp ub mn [U fr dnUn h[ 4p uLn) 4bquhurm 3 1820 5.46

33691 1 91 LILnpopunfitr d/ qbrluihtxm t3 2850 42,75

33691 1 91 rlIpurgbmud
4br1u-rhu-rur 54 3240 173.9 9

33691 1 91 3[Lup[q[tr ququrnuu 3 16000 51.52

33691 1 91 flhnuqburutJ, qhtrurnhqhti q< nununuiLn 30 8990 269.70

33691 1 91 hBhlrlbBhrhhnnoBuhuhnhnhLh unLUqhLuur ilc 420 48.30

33691 1 91 P 1n p n q I p Lu rI frl (p 1n p n q I p Lu r]fr! lr h h 4p np 1n p h q) a/ unqurq 235 155 36.43

33691 1 91 Plnpnq[pudhl (plnpnqhpurdhUh hhr]nnprnnhr]) g< nbnuhurLn 57 1440 82.08

336911 91 UnLl$nt1ud$npuppnL, qpnlu4lrL[r hlrtlp a/ upquq 57 820 4 6.33

33691 1 91 Ubn{u u!m[{Lugt{Lu8 q<
ryn J 3030 9.09

33691 1 91 Pnpu-rBpnL qupt1nL6 220 5 1 .10

33691 1 91 rlbpumnnq unuulu 35 170 5.95

33691 1 91
FburuLlbpuqnL (pbLnLu dbpuqnL | 4fr q p n qI nL u ur),

!1nLnp[dLuqn1, qbLunudfrgfrtr (qbLLnu]dfrghLh unLguLn)
t/ qLup!nL6 1,650 to 26.40

33691 1 91 r_ruquntlnq g< 22nU 2,470 2.47

33691 I 91 tr urur L{u;fu nmfl nqbpnLp d, unln L6uqnL nqbpn LpLI, u1n6 lr nqbpnLp rJ
q<

221]tl 118 25 2.95

33691 1 91 u Lr lfu up n LII g bu pn LluLp 4ft fi n$h 1ug 4ru6 pShptrbn q< t1/u.t 306 100 30.60



33691 1 91 f}huLIhL (phLurJhLh ptnnh4) g< unqu.rq 20 193 3. 86

33631 31 0 hpnLqpn$btr d/ r/h B 9140 / J.tz

33631 31 0 hpnLqpn$bL q< q/h lf) 3200 51.20

33631 31 0 (bqup[L LtuurpInLd tuurnUn16 778 20 15.56

33631 31 0 r{f Lqngbutfttr g< vh 52.7 r550 81.69

3363 310 \uf nulfi ulbpduLqulruru d/ ??nl) 119 B 0.95

1 591 00 PuqhnLpI uq[pm q<,
221111 150 3 0.45

3362 370 hqn u n ppfr4fr 4lrtr[ unp urLn q<
ryn 43 4900 210.70

3362 370 rnnlqbpirqnL (urntulbnhqntrh hhnnnprnnhn) r/h 60 400 24.00

33621 370
quiLnqurfu n m rybqur mn Lfi h u.rL nrq, qur Lnn nLg rybqulmnLfi huL nLQ,

rrrLrrrLnrhr rrnrrhnrrrhLh hrrlrnr lr
q< ry'h 109 r 000 109.00

33621 370 Apu6Lfr qbpopuirq o/
2z1tt r49 94 14.01

33651 1 35 Plnpud$htr[!n1 g< qup!nL6 238 62 14.76

336611 25
U bm Lu d F qn t ( d bm ur d fiqn t Lr ur m n n n ul ), q I Ln n$ bL ntr

rrrhrnn$'hlrnlrh hhnnnnrnnhn\ Lhlrrrrhrlhnhlrhnrlh nnnrfhn
q<

ryn 12.5 2200 27.50

33631 200 .fuLqbfitr pd2!u!uL q<
u.t urn Lt n 16 t50 6 0.90

33631200
r{lrurutlfru C, Ll[LnLudfr! E, pbmu lupnm[1, lnub[rL,

ohttrntrrtrltnhlt rrrnhLA lrrrnb8h unrt$'rrrrn\ ohLlr /nhlrlrh onrrhn\
q< Nh 60 60 3"60

33631200
f dft ur rl frtr ( p[ u d lrtr lr h lr qp np 1n p n r]X rlfr nr u rl lrL 81 ), q n p h r]op u f'L

/rrrhnhnnnrrhlrh hhnnnnrnnhn\/ rlhrnrrrrlhlr R6\
d/

'vh
20 300 6.00

33631200 SunLpItr q< unLl 3B0 100 38.00
33631200 Snppurlhghtr g< unLl 830 5 4.15

33662100 3 [ q pn$lopuugfr! (gh qp n$1opu ug[LI h h r]p nplnp h r])
g< unLl 450 67 30.15

33662100 Shunpnnd 3, urnbLnqhL, trhUnmhLurdhn q< unq 950 55 52,25

33662100 LIurpn$nLpu.r1 qup!nL6 285 11 ti.99
336621 00 LILnpn$nLpurl a/ rhup 70 20 1.40

336621 00 $nLpurqnfi4nL q< ryn BBO 4.40

336621 00
o Jr uln nQlopu LUg I u (9 il qn nPlopu urg l uI n[] r]n npln nnr]1,

^ t-^,,,,,,rE^,,,^^t,
d/ unq" 6BB Zf) 17.89

336621 00 Uu [1 nn phl urBBnL, nn u-n nq | 4 ( nn LLnnq h nh unnh hh nn u Ln) g<
ryn B 650 5.20

336621 00 ftbqbnLuh!, nhhhnnuiruiqhLh unLr$urm, hhnnnprnnnahu.rqhn d/ nbnr.lhum 40 2100 84.00

336621 00 €ubpn$npd, 2[Qumullfr hutrnLl1, ShLt{ (ShLtf h unq$urr-n) q< tlndf ll 6B 200 13.60

336621 00
U1$ru-Lnn!n$bpn1 u.rgbLnurn (L{[mudfL E), nbLnf!n1 qulLlfruruLn

/rlhrnrrrrlhl: A\
q< rvul 1i 1310 27.51

336621 00 hutrrJqhluLn q< n/h 45 i50 6,75

336621 00 InqLr p ur uL (1nqu pu uL ! urfi nrd), h [4p npln p n p[ uqfl 4 q<
ryn 70 360 25,20

33662100 flbn dn ul u h u h fu n m, L ru ur p lr n Ld h h h nn n U u n p nb ur Ln o/ rllh 33 2800 92.40

336621 00

u uqtr bqrr n Lu n n n 4n n ur u r4 ur n m ur u'r ( tl urqu uql n ru rl

h fr 4p n uu q u p urqfltr u u un burp u h [ 4p u Ln), q I p I qop u lrlr
/,,,h.h^^^,,ht,h hhhh^^,^hh^\

q<
ryn 45 600 27.00

336621 00 SnLrlun 4brlu.rurnL g< ryn 11 2500 27.50

336621 00 EplrlUbplrlhIapopuhqhphqf'Lh unLlgfrLuLn unqurq 268 60 16.08

336621 00 luu$uqnthtr q< unquq 208 223 46.38

336621 00 QltlfuruLh lnLrt g< unqurq 192 to 3.07

33662100 UndudbLh unnurqnnh hurLnltl J\ hu-rp tt3 3150 551.25

33662100 albpubtr hn,p 42 1020 42.84

336621 00 Ouqu{bp[Lf h[4pnp1np[4, pbL4uqnfi hfrqpnplnph4 q<
'/h

5.2 r 200 6.24

336621 00 ShmhnhqhL (qbmhnhqhLh nhhhnnnBrnnhn) aa qlh 74 1540 113.96

33691 1 96 ftfiuqbp[4ntr q< r/h 31 19010 589.31

33631 000 ftbh[4pntr q< hr.u ur 235 250 58.75

33631 000
wl'Jr rLqlrY a/ unqurq l51B 40 60.72

33631 000 Umpn$urlurIL-G Y< unLlurl.,t 35 30 1.05

33631 000 Upl n LL Lr Ln p u-t LIU 1n L6[i h n p p]t u p1 n LL I g u 14 | Ln u ! n Lg Luqb pb qLrp!nL6 1480 3B 56.24

33631 000 UbL u4h nL (rJbL u nh nL h L urLnp irn LrJur ! u.rL phu n q$h un) q< unqur[i 85 50 4.25

33631 000
U brn ur d nqn t ( d bu ui d nqn t U irr m n n n ill ), ur p I u g bLn n Lu d frlr 4-

r nn r n r hl r r r nr rihnf rr r r r n
q< ryn 30 41 00 123.00

33631 000 SlrLn[!nfiL (ghulf'qnhU Luup[nLd) d/
22nu, 7800 6 46.80

33631 000 PbunudbpuqnL (pbururdbpuqnLh 1 7-tlulbnuru) qup!nL6 1210 10 12.10

33631000 g<
221)t| 650 t aa

33631 000
U ulrlbu bp n1 (u urltlbmbp n fi puftlu$n um), $1nLLn[ !uqn!

/$,rnrrnhlrrrrnnlrh rrrnnrlhnlrrrrrn\ ryql 9500 28.50

33631000 l-Lrn4nqu, !Lupp[4nqur g< r/h 23 300 6.90
33631 000 UhulbunhLntr a/ hLu p 28 200 5.60

33631000
'J Lu nllu n udlu qf q Ll ur n d n u u q fr m ui q, q u u qur [u n Ln 4b[u] Ln n r,

unnhnLLn 6uLnLnLbtr, uruLnnhLo nhnuLnnr. urn6bLh
t/ Ntu 84 1200 100.80

3363 000 L[$nLpopuuqfi4 q<
ry11 B9 360 32.04

3363 000 (f apopufqfb (hhqnopuhqhlh hhnnnBrnnhn) o/
ryn 54 146 0 78.84

3363 000 P{binIurq[L (pLlhLnhuqhLh $nLdLuputn) g< ryn 167 120 2.0.04

3363 000 9frLlqn phtnpu1h 1np huLnrtl Nul BO 600 4 8.00

3363 000 tttbrJuruLnhL ([,ltbrjtuuLnhLh $nLrlupuur) unuuu 183 100 t8.30

33631 000 $bLuqIp[r4 ($buuqhphr]h hhripnplnph4] ryn 138 300 41.40



33631 000

ur fuu r il lu uur rlduJl ru, u rwpr lur I uJ rqwl tur{r [u, ulr Lu]ur I uu,

duu n Lmu ! hu pp, ! n6 uLqqqbrl 4brlLuLnn L, brJpLh ll u 4bquLnn L,

pppnLLI bp!Lrp, ur!urg[rru !uurbfiunL, nLuqirLu.r, nhhuL uppuquL,
Lnbpd[Lufrru fubpnLlur, urbpdfrLufiru pblbpfrlur, u1q[rLlru,

,-^,,,^,,,t,,ft-f,^^,

ryn 5B 640 37.12

33631000 LpLut.,lnhqhlh 1u!rnLuur 221\ 120 55 6.60

33631000 n[nuLlbliLnIm (udb!uIufr +hoUurwh+nhU) n/ll 1q1 340 51.68

33631 000 Fnpu.rppnL d/ nuu BO 30 2.40

33631 000 UnLtqhnh+ o-/
ryn 9B 300 29.40

33631 000
.}npqnludfr4 

(4npqn1udfr4[r hfr4pnplnpfr4) d/ unqu.rr.,{ 6895 30 206.85
33631 000 Uq u ul bL Ln wq hL ( uq u q b! u lnq bL ul n t h u n q gntr u.r Ln ! ur ur n h n Ld) a/ undutr 111 0 9.99

33631 000 Upbrulfr o2u-rpurll g< 22lLl 840 ol 51.24

33631 000 Lhn$hr uq U ur6 tlbU ru-ltrh U urp! urppd urI hL duL nbtrbn a/
rybrluhurm 160 908 145.28

33631 000 UirpudIuufitr g< huur 1500 q 13.50

33631 000 Pbmuhhuurhtr (nbmuhhumhLh nhhhnnnBrnnhn) g< ryn 90 300 27.00

33631000 ?hlfutuLh tnLq, plnnu;d$btr[!n1, phtrqnllurhU, pnnLuBBnL d/ num 4400.5 2 B.BO

33631 000 'rlunurgbLnurUnt, uuqnnpnUurppnL, !ngbfrlr, plnpgbUrudflr
/nrnn$,hlrr rrrfhlr rIrr rrhr r rrn\ +/q 224 200 44.80

33631 000 \uppngIuubfltr q< ??0\l 989 40 39.56

33631 000
l-h4ntturthU ($anlLulfrLfr hIrppnplnp[4), plnphbpufrq[tr

/nrnnhhnrrhnhlrh nhnrrnrlrnlrrrrrn\ nhnnanhnh?r
q< huF 108 240 25.92

33631 000 gbprubLir qbpbh[4pn1 t. 1200 3 3.60

33631000 !uur{pnLn[ q[2bpu1[b 4prudb
g< nup 7 1 650 il.55

33631 000 0dbqpurqnl q< IunuiulurLnnl 19 9070 172.33

33631 000 U1n Ld[L I n uI[ h [ 4popufr 4, rluqL bqfi n Ldfr h ir4popu [ 4 q< rqp Lbnphl 1140 260 296,40

33631000 $udnmIr1[tr q< 4bquhuur 12.1 2000 24,20

33611150 'lLuLtipbuurfrtr (udirluLq, qpnmbuq, frquq) g< 4Enurnuru 34 2750 93.50

3361r150 Jbmn! 1n qp urdfi 4fr h [4pnp1n pfr rplr rInL nh fr 4p uur a/ rlrirluJn uJm 40 820 32. B0

3361 2400 tJbLnnLl 1n qp udfr 4fr h[4pnp1n p[4[ dnL nh lr ap Lum q< unLlurLj 49 300 14.70

3361 2400 npnunu{hpfrbI h[4pnp1npf 4 q< un4uL.l 52 200 i0.40
33612400 nnnLnudbnhLh hhrlnnprnnhq o/

4bryLuhuLn 7 6430 45.01

3361 1 200 l-nqbpurrllr4 (lnqbpudh4h h[4pnp1np[a) q< IUnuquimrri 7 2BBO 20.16

3361 1200 ftuLIm[a[!fr h[4pnp1np[4 nnnurnum IJ 3700 48.10

33613000 FhuruUnnhr Tq nbnu,rhu-rm 7 5480 38.36

33613000 9uLn{ufunm[ nqbpnrnd 22nu 172 1906 327.83

33621440 PbLnuqnth hhnnnBrnnhrr q< unqurq 26.8 990 26.53

33621 51 0 Yru14rnnqnnl nbnuhurm 10 1 B5B4 185.84

33621 520 hL Lr luqp [1 (bL u1u qp [ 1r rJu lbuur), h [ 4p npln p n piruqfi 4 q< nununum 19 8400 r59.60

33622800 aluqur{bplrL (ququr{bphtrh hhrppnplnphr1) q< unqurLl 30 350 10.50

33622800 (hnnnBrnnnBhtuq hn g< nbnu;hurm t1 r',1 8000 91.76

33621620 $nLpnubdfr11 q< un{urLl 28 450 12.60

33621 620 $nLpnubdlr4 T< 4brluhurm 5860 17.58

33621 620 9up{b4ir1n1 d/ nbnuhuru 28 1200 33.60

33621 71 0 UunbLnlnl a/
4brluhLuLn 4160 20.80

33621710 PIunqpn1n1 (p[unqpn1nl[ $nLfurpuLn) Y( 4brluhulLn 10 2850 28.50

33621710 ULItnnhqhL (udrnnhqhLh pbqhrLuu) o/
4brluhLuur 12.3 821 0 100.98

33621710 Lh$bryhqhlr g< nununum t4 B1 00 r13.40

33621760 fLtuluqpIft rlulbuur nunulnulm 6 9600 57.60

33661230 lq bm hlu ruthq h t uLppn L, rJuqL bq hn Ldh h h nnoBuhn g< +urLunuu 11 1 5652 172.17

33671 1 30 n[$bb h I ap udhL (ryh$bL h h+n ud[L I hfr 4p npl n p ir a) o/ unq [uq 23 1452 33.40

33671130 -rbunqpn$btr qup!nL6 650 203 t31.95

33671 1 30 nhULn$bLruU LuunpInLLl g< nbnr.uhr-uu'r 1B 8640 155.52

33671 1 30 ft ! 1n$btru ! trurLnpI n Ld un{uitl 82 940 77.08

3367i 1 30 -}ft 
l; 1n$btrur ! L uLnp I n Ld qup!nL6 346 259 89.61

33631 630 IPtttlrnl d/
??t1tl 1 045 47 49.12

33631 600 3nn q< nulm 168 2047 343.90

33621240 SfruLn!npuluLdir! g< unqurLl t7 340 5.78

33621240 bnQLuph un4$wLn, uutlnppfrLLuppnr q< ququnurLn 33 1 000 33.00

33621240 $n1u-rppnr 4br1u-rhuur 6 912 5.47

33621240 h!nntlbLnuqhU q< qup!nL6 270 72 19.44

33621240 I-[nBhnoBuhLh LuurnhnLrJ d/ 4hqurhum 21.2 700 14.84

3361 7200 L[nohnoBuhLh Lu.rmnhnLrJ 4UnWnUrLn 13.4 2000 26.80

33651100
Uriopufrgfrfrtr (urlopu[g[[rLI mpIhIqpuur), p1uLlnrlurUurppnL

/lrrrrrhnrrlh nrrrrrlnrrrrrf rrrrrn\
q<

4UrlurnuLn 146 5510 804.46

33651100 UrlopuhghthL (rurlopuhghh!h LnpIhIrlpuur) g< rlurLuuluurl
25 2 0.05

33651100 Urlopuhgf'Lh! (rrrlopufrghhUh Lnpf hIr1puu) q< 40 300 1 2.00

336511 57 SbSLnnhupunU (qb$LnnhupunL LulmnhnLrJ) unqurl-l 152 950 144.40

33651 1 00 UqfppndhshL nbn urh urLn 278 42 11.68



336511 00 UnL$ur.lbpopuruqnl, uplrrlbpnL4p[rLI nbnu]nurLn 17 4420 75.14

336511 00 Shutnn$topuurqhU (qhqnngroBuuqhhh hhnnnprnnhn) g< nbnuhu-rur 35 2704 94.50

33651 220 $1nL!nbuqni q< lurluu.luurl
114 90 10.26

33651220 !tnLnnhtluqnl ulunUnL6 260 7 1.82

33651 220 hpuumhL c< 4UnlrlnLULn 389.3 lB0 70.07

33651 220 0[pLugbunud unqurq 40 440 17.60

33661 121 Ug bur[r1u ufr gfr puppn L
d/

4b4u-rhum 5 3300 16.50

33661 121 0urpurqbLnurJnl o/
4b4u-rhu.rur 4.3 10560 45.41

33661 1 21 UbLnurIflqn1 (dbLnudfqn1 LuurpInLd) a/ u nq urq 35 1142 39.97

3366r200 uhLnutlf qnl (dburu.rtl[qn1 LuurpInLd) g< rlbquhuur 6 7800 46.80

33661200 Ug bLn[ 1u uf g I tuppn L, qu-rpug br.nudn 1, Q n gbfrtr q< rluqunuiul IJ 11 920 154.96

33661200 UulpnLLnrutlnlh unqgurm q< nunuinurLn 1 370 17.81

33671 4 UilhLn$hrh! (hn$hrhtr) fq unquq 40 110 4.40

3367 4 UuhLn$hLhtr a/ nunulnulLn 3 2900 8.70

3367 4 PpnLIhbpufrL (ppndhbpufrLlr hfrqpnplnph4) 4brlurhuLn 3 4500 13.05

3369 36 l,uLnnhnLilh Btnnhn o-/ unqurq 4B 590 28.32

33691 36 Lumpf nLd[ pinp[4 ruLnf !b rjruL 366 140 51.24

33691 36 Lu-ttrlnhnLdh Brnnhn r+< ruunf!b qhur 180 100 18.00

3314 0 rlhpul]uul q< huJm aq 1495 12-7.08

331 4 0 FdtUrutturL purdprutt g< n ulLn 187 1798 336.23

331 41 31 0 t bnunUhlLbn 1
q< nuul 832 25.79

33141310 LbpuptlfrlLbp 2 hur-n 22 2409 53.00

33141310 LbnunUhrlbn 3 q< hu.r un tz 4649 55.79

33141111 UqbrLur!htrhp htuLn 280 toJ 45.64

33141000 nbnbnh Ubnun[lduLL hturJu.rltunqbn g< hulLn 42 440 18.48

33141000 LrurpburbpLbp q< N LULN BO 50 4.00

33141000 !upbutbpLbp q< hu.rm 40 40 1.60

331 41 000 Ulumnnnzhl trtnLpbn /umnhutLhn/ g< ulnrqr 7200 64.80

33141420 Fd2!Lu!ru! dbnLno nuul 25 1'105 27.07

33141420 $1nLng[Ln1nLI ugbunL[4 q< quptln16 220 45 9.90

33631 61 0 aln{[r1nL 
lnrp 221t4 2830 19 52.36

33631 61 0
h[4pnQnpm[qnu (hIrpn!npLnf qnlI urgbmuu),

rrrhrnhrnnrrrnhlrrhlr t/nnrrhrnhrnntrrnhlrrhlrh hhnnnnrnnh
q< qup!nL6 2tJ 3.23

331 41 129 pd2!ut1uL 4ftLIutl g< num 13 130 1.69

33141111 t4qlnLL uulbnurLh g< num 50 t.65

331 4 n|hprlbpplrtr J\ 22n11 1600 A 9.60

33141111 u33 a/ huLn BO 120 9.60

33141111 2murq oqLnLplnLIr g< huur 1250 3.75

33141 ulnLdfLInLdlr $nu$uLn
(r/ Lhupbp 180 20 3.60

33141111 untl$urqbuurLlhn (unq$ruqbLnu.rillt4 LLuunpInLd) q< qlupuB l3 60 o.7B

331 41 l1 Luq[{frtr unqurl.,t 960 22 ?-1.12

3314 l1 !6nL uL ruL nLfufr 
1 

n Lr; pu qh n 4, luLnL{Lufu n unf u.rp rJu unL bp undurLl 220 3 0.66

336s1 70 urqhlltndhn g< 4brluhum BO t7 1.36

33651 70 qb$ulbpuhU (gb$urlbpuf'fih dnLnh[4puLn) q< rHnrr rrrrr rrrnhi 150 0 0.00

3314 B LuLdbnng[! uLnbpfrl hr.uur 14 140 1.96

3314 B Lu4urrlurL41u-r !uLu5 q< unqurtl 130 25 3.25

3314 B rfiurqnhL 4purdb q< huLn 3tu 2.2.95

33641 41 3 qbpuuLlbLntrqnli a/ unr.lutr il3 383 44.05

331 31 000
dbmpn![qurqnl(LIbLnpnL[4r.uqnf pbLqnLuLn), plnphbpu[4lrLfr
nhn ttntl tnitr t ttn /nrnnhhnr rhn htrh n hnrrnrl rnlrr rrrnh ?O0l rnrinrrn\ rqurnqn16 800 t0 8.00

331 31 001 u m n p Llu u u u Ln [L ( ur m n p Llur u r.r1 u ur frtr ! u g I n Ld I Ln p I h fr ap u m) nbnurhLUul 69 500 34.50

3361 1 350 UuQnppfrLruppnL unUurLl 47 300 14,10

33611 350 urrlppopunl (urlppopunlI hhr]nnptnnhn) q< 4bqLuhum 50 2800 140.00

33661142 Urllr urp I qunf f L (ur LIhLnp h qu hfi Lfr h [4p nplnp I a) g< 4bquhurm 10 41 B0 41. B0

33691 31 0 PbUqhrpbLqnum g<
22ttLI 460 3 1.38

33691 31 0 CLhghtr d/ qb4u-rhum 20 750 15.00

33691 31 0 9rhUrLuqhrr t/ ququrnuLn 128 5850 748,BO

33641 41 3 nbBuurrlbpuqntr q< unLlurLl 670 71 47.57

33621 380 rIIqnpufrtr q<
4bquhLuLn 5 550 2.75

33621 380 rihSbLhhnnuilhfi
4Untr]n|"uLn I 3700 33.30

33621 380 $nugnrhulhnLbn (hubLqhurr)-k$l- trbququiunIt 120 300 36.00
33621 380 tJbLn n u1 p n 1n 1 ( dbtr n q p n 1n fi Ln Lu p m p r-r-r r.n )

q< nunu.rnurm 10 740 14.06

33651 1 35 €1npud$btr[!n1 nunul nuJ u1 45 1400 63,00

33621300
ulgu-ppndfqnqurlbn|turlrurppqh bpht fupbp, gbLnpunphurul.,

rrrlrrrrlrnrhrh rnrn
q<

221u, 120 30 3.60

3362'1300 91nunpILIuqnl f( qup!nL6 190 lt 2.09

33661 128 -rurppurluqbqId g< rluqunuLn 11 29300 322.30



3366i 128 (bqupfrL (hbqunhL LuLnpInLd) a/ qLunUnL6 633 33 20.89

33693060 UuqLbqlrnid unq$ulLn q< unqurq 32 210 6.72

33693060 UhLn$npdfrtrlr hfrqpnplnph4 q< I}unuinuul 30 1000 30,00
33632000 Lhtlbun{h4 g< nupup 94 630 59.22

33632000 LILnpnq[gbplrlr g< nulm 1400 4 5.60

33691 1 44 LuurnhnLrJh ohnunLr$um T\ unduLr 45 140 6.30

336611 70 rlpn!u1frl (qpn11ur1[Lf h[4pnp1npf 4) d/ un{Lutl 32 200 6.32

33661170 nlirp[rynpufrlt d/ unquq 25 224 5.60

33621 620 UulhnnLnturUtnnL a/ qununuLn 45 760 34.20

33621 620 $Lnudfir 81,rl[LnuLd[tt 82, tlfLnudfrL 86, 4bBuquLpbbn1,
Lht1nLnhUturJhrf

unquq 120 700 84.00

33621 620 SbLnpugirtlfrL utun[]nd 720 44 31.68

33621 620 flhdnrnr (Bhdntnlh dturhuur) d/ upLlurq 382 122 46.60

33640000 SurJunqnq[L (LnudunqnqhLh hhqnnptnnhr]) f( IUnUrLqr"uurnl 192 2580 495.36

33141112 Uqbqrulh In2LnnL!fr hrurlurp f( hLuLn 500 60 30.00

331 41 31 0 Lbnunhhi 3 +< nuLn ta 3100 37.20

331 41 31 0 9gnLllndbLnp[ uurpf qLbp nutll 8200 7 57.40

331 41 31 0 ,Tlpnunupqnl q< $1u!ntr 300 4 1.20

331 41 31 0 l-hqnL,{ur1hL (fi Anlulltlft h[4pnp1np[4) a/ urUq. 26 90 )-.34

331 41 31 0 LbpurpLlduL gnLp q< urdq ?? 110 2,53

33141310 UuLlLup[nL, qbpdbppfr! qh qbpnL[ fi pn LBoBu[ 4 q< u n rlu.rl.l 3900 3 11.70

331 41 31 0 Dqumbl LnnLqh 1 000 104 104.00

331 41 31 0 Q bp rJru5rur.h /uL rlh [1ruthtr/ hurLn 400 46 18.40

331 41 3i 0 UnL$urrJbpopuLuqnl, urpIdbpnqpId huur 3B 100 3.80

33141114 GurLqh$ c< hurn 120 100 12.00

33661 1 36 n[Lrqbqud q< 4brlurhum B 16032 1)-8.26

33661136 0upuqbLnudn; aa dndhtr 90 800 72.00

3366 36 +hgbphLh dlr!pnhnqbur zzf'Ll r50 30 4.50

33691 29 ft[Lqbp q< qil-upup 345 35 12.08

33691 29 tftutrULutrLuL rhnrh q< hu.rrn 340 2 0.68

33691 1 29 rlbrlbpu q< 22tq 1500 20 30.00

33691 29 UpurLu66nq !Luurburp
q< huur 100 360 36.00

33691 29 nhLlupu-ptnn q< hup 111 0 14.43

33691129 {[mudfrtr 81, t$LnuLIftL 812, tlf Lnud[! C, L{[muLdlrtr PP, D' d/
22l,Ll 1200 5 6.00

33691 95 !1nquq[tr g<
4UrlurnLuul 35 9150 320.25

33691 95 q<
2211Ll 2000 6 12.00

33691 95 plr$[!nfiL/ Fh$h+n pu!mbpfiL/ q< 40 90 3.60

33661 29 tlurrurnnruoonl (tru-rurnhnLrJ durunnruin) q< nbnuhu.rrn 120 2900 348.00

3366 29 ulu.r 
114 p n u-r r"n L u ur p I n LLI ( rlu 1q p n uL ppn L) g< nhnu-rhLum 7B 9800 764.40

33661 1 31 $bLnpuppfrurtul t/ 4btuhurul 4608 59.90

33691225 FbLqnpLunphLnut q< nununuiLn 20 10704 214.08

33691 225 $nLpuq[4ir! d/ nununuu 720 18.00

33691225 OpuIpn LLn[L irL (opuf pnLu[L irL fr h [4pnp1n p [ 4)
q< rluqurnurLn 180 540 97.20

33691 225 l-uULnnLtnq 22n\ 3750 4 15.00

33691 225 (bpp[nb o2. q<
2211Ll r 850 7 12.95

33691225 bnUuph (lll) hhnnopuhnh tr qnrhdurrmnqh huLIuLrhn zlt'tLl 2300 5 11.50

33691225 L[$nLpopuuq[4 d/ nhr 82 104 8.53

33691 225 SbLnurjnt o?./ulunuqbLnurrJnt / o/
221'U 680 l4 9.52

33615000 qhdburhnhn,dbLngnndhL hhnnnBrnnhn q< (uF 40 0 0.00

33611350 uu!npp[LLuppnL ascorbic acid g< (urp 1460 45,26

33691136 LuLnp[nLdir Blnp[4 sodium chloride $Lu,rh 278 105 2.9.19

33661140
plnpqpnduq[! (plnpqpnduq[![r h[4pnp1np[4)

chlornromazine lchlornromazine
(uLp 24 7600 182.40

33661139 hulnulbpIr1n1 haloperidol d/ (utp 12 4320 51.84

33691 1 94
mpf $1n LnqbpuLqfitt (urp[$1n Ln qbp uq[Lfr hf 4p nplnp I q)

trifl uoperazine (trifl uoperazine hydrochloride)
q< (rup 5 7410 37.05

33661 300 lurf nmpIgfrtr

lamotriqine
o/ (urF 278 400 11 1 .20

33661 600 $1n$bLuqf L ($1n$bLuq[bfr 4b!u!nurm)
fl uphenazine (fl uphenazine decanoate)

(r/ Udu.l 876 BO /0.08

3361 1 200 LnbLnnLuqhUthLh hhqnnBtnnhn tetraciklin hydrochloride d/ nup 21 360 7.56

33661 520 4[uqbqud diazepam q< udq r00 190 19.00

33 41 800 hLnndbmuqnL 1, g< SnLLf 13250 2 26.50

33 26000 LnLuurthL ultndnuLtnLn q< SnLdr I 8000 t8.00

33 31 000 9nLuuqbpiu.r SnLqh 1100 1 .10

331 41 800 LLuurnh nLLIh h hr.unornnhn d/ $rruU 1100 1.10



331 31 000 U1!nuqpbl g< $Lult.t 8000 1 8,00

331 31 000 ULlLludbpnfi q< $tu.r|'.t r 9000 1 r9.00

33696501 UudhLnnr 200dq N20 g< Lnn Lr"h 400 3 1.20

33696502 Uhqulhl !uunbunp $nfir a/ hu-rLn 276 JI 8.56

33696503 LhLnpnqhgbphtr q< hLup 9 400 3.60

33696504 U[quh uL{ruprlu! qurnLl d/ nLum 200 30 5.99

33696506 l-dbldn4nLl[ punLLl q< LnnLqh 130 A 0.78

33696507 hpnLqpn$btr '+< 2?tq 1300 1B 23.40

33696510 !bmnun[$bL (!bmnun[$btr[ $nLdurpuLn) rt< oununuu 7 210 1.47

33696511 €rnnhbBuhnhLh q11nL[ntrum g< zzltl 620 6 3.72

3369651 2 U n q$udbBoBuuq nt, Lnnh dbBn Lunh LJ
g<

22nq 2150 10 21.50

33696513 9thqhnnt q< dndhll 100 200 20.00

3369651 4 (u1L[bfr hhqnLl /U1nf/ unqurq 40 20 0. B0

33696515 hhnnnUnnLnhqn! (hhnnn['lnnLnhqnUh uqbLnLuun) g< huur 218 1 .96

3369651 6 LnonUurqh$bnnr /.lhLnuLIhU D3/ at 22hu 798 14 11,17

33696526 9bpnr!pnrlfr! l,tuLnbmbn 1 2FR hLum 128 250 32.00

3369653r !uunL{ufunm[ nqbpnLpd, unlnL6uqnL nqbpnrpd, u1n6[ nqbpnLpd g<
221't\ 528 30 15.84

33696532 Ur rn LdhL hnLdh hh nnoouh n. duiq.L bo hn Ldh h hnnoouh n nurp 33 40 1.32

33696533 $uLInu[4[tr d/ unquq 678 30 20,34

33661 420 S p lr h bpu[$btrlr a[ 1 (mp Ih bpult$bL h +h Lh h h4p np1n p h q) nuF 6 8300 49.80

33661 420 buLnpfrnLd[ Blnphq 0.9% 5rI1. q< rnquq 32 30 0.95

33661 420 UgbLnf'phuLnbf'U q<
4briuhLrLn 196 60 il_/o

33661420
p!LnnpLug[1nLu Lug[4n$[1nLu, plr$[4npLuILnbpInLd lnLqnLLI,

p[g[4npu!urbpInuI pfr$[4nuI, plr$[4npullmbpInLd lrlguLunIu
q< lbriuqum[t 135 60 8.10

33691 1 3B nbouurnnq (nbournnnqh dn!nhhnnuu) q< huun 378 170 64.26

331 41 31 0 Lbpup!ir1 num 11 400 4.40

33141 31 0 $bLhrf$nhL ($bLhrh$nhLh hhnnnornnhn) q< unL|urL.l 71 20 1.42

331 41 31 0
JpLn[!Lulfru (urnlnnqu]lt!n hf'r]nnptnnrl4), fq[Lb$plrlr

lbuhLb$nhLh hhnnnmurnmnurm)
g< un{urq 1538 B 12.30

33661 600 l-hndbqp ntluq[! (lhndbqpndiuqf bir rlurlbu ur) d/
rybquhurur 3300 82.50

33661 1 37 Lnnuqbuturl g< 4bnuhuLn 12 1704 20.45

33621460 nl bp frL 4n q p | 1 (qbp lrL 4n qp [1 upq[L [L ), f L ryuLqu dfr 4
q<

4Urlurnu.rm 199 750 149.25

33621 460
uLpl n LLu Lnp u du lnL6[1 h n ppfr upln LL[r g u qImu!n Lguqhp6,

| | 
' 
nr h n n I r I r rIr n I

q< quplnL6 1978 3 5.93

33621460 0punfitr qup!nL6 250 B 2.00

33621 460 UprlublbL 10tJ1. a/
$1Lu!nir 17 40 30 52.20

33621 460 9bLnnulnn$btr nuip B4 150 r2.60

33621 460 Uuf gIluppnL d/ 22rr\ 201 C 1.21

33621 460 pd2! u! uL u nu frLd LuLnu Lltul itL qp npbql bp | $[puduLL h nrr.lLup g< LnnL{r 1490 J 4,47

33621460 hLnntuubn 0.3X25drl. d/ huLn 297 20 5.94

33621 460 U1q[ULuun d/ mn[Ln 3490 1 6.98

33621 460 I n11urp popu fr lurq (! n t1rup popu fr lLuqf h | 4p npln p [ 4)
a/ un{u.rti B6 20 1.72

33621460 LhnnUu;rhtr 2?l1t) 3428 ) 6. 86

33621 460 pf uulln4[1 q< dnLifl.1 65 250 16.25

Ctu4rurlb!p 17989.47


